

— 1) $f(x) = \text{cost.}, \forall x \in A \Rightarrow f'(x) = 0, \forall x \in A$

— 2) $f(x) = e_1 f_1(x) + e_2 f_2(x) \Rightarrow f'(x) = e_1 f_1'(x) + e_2 f_2'(x)$

DIM.

$$\frac{f(x) - f(x_0)}{x - x_0} = e_1 \frac{f_1(x) - f_1(x_0)}{x - x_0} + e_2 \frac{f_2(x) - f_2(x_0)}{x - x_0}$$

□

— 3) $f(x) = f_1(x) f_2(x) \Rightarrow f'(x) = f_1'(x) f_2(x) + f_1(x) f_2'(x)$

DIM.

$$\frac{f(x) - f(x_0)}{x - x_0} = \frac{f_1(x) f_2(x) - f_1(x_0) f_2(x) + f_1(x_0) f_2(x) - f_1(x_0) f_2(x_0)}{x - x_0} =$$

$$= \frac{f_1(x) - f_1(x_0)}{x - x_0} f_2(x) + f_1(x_0) \frac{f_2(x) - f_2(x_0)}{x - x_0}$$

□

— 4) $f(x) = \frac{n(x)}{d(x)}; d(x) \neq 0 \Rightarrow f'(x) = \frac{n'(x) d(x) - n(x) d'(x)}{[d(x)]^2}$

DIM.

$$f(x) - f(x_0) = \frac{n(x)}{d(x)} - \frac{n(x_0)}{d(x_0)} = \frac{n(x) d(x_0) - n(x_0) d(x_0) + n(x_0) d(x_0) - n(x_0) d(x)}{d(x) d(x_0)}$$

$$\frac{f(x) - f(x_0)}{x - x_0} = \frac{\frac{n(x) - n(x_0)}{x - x_0} d(x_0) - n(x_0) \frac{d(x) - d(x_0)}{x - x_0}}{d(x) d(x_0)}$$

□